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= 50, will be treated as malpractice.

pulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing vour answers, com

Note: Answer any FIVE Jull questions, choosing ONE JSull question from each module.

Module-1
Define operating system. Explain the goals of an operating system. (10 Marks)
What are Computational structures? Explain the operation of an operating system, (10 Marks)

OR

Explain:
i} Partition based
i)  Pool based resource allocation strategies with a neat diagram. (10 Marks)
Briefly explain the different classes of operating system, specifying the primary concern and
key concepts used. (10 Marks)

Module-2
Explain the fundamental state transition for a process with state transition diagram,

(10 Marks)
For the following set of process perform FCFS and SRN scheduling. Calculate mean turn
around time and mean weighted turn around.
Process Py |Py| P3| Py Ps
Arrivaltime | 0 /2 (3|59
Servicetime | 3 /3 (2 (5] 3

(10 Marks)
OR
Define threads. Explain: i) User - level threads ii} Kernel level threads. (10 Marks)
For the following set of process perform RR and LCN scheduling. (10 Marks)
Process P| Pz P3 P4 Ps
Arrivaltime [ 0 | 2 (3 /5] 9
Servicetime | 3 [ 3 [ 21513
Module-3
Explain contiguous and non contiguous memory allocation. (10 Marks)
Explain: i) Paging i) Segmentation. . (10 Marks)
OR

Explain the important concepts in the operation of demand paging with diagram. (10 Marks)
For the following page reference string apply FIFO and LRU page replacement policies to
find number of page faults. Use alloc = 4.
Page reference string: 3, 4, 3, 2,1,4,3,5,4,3,2,1,5
Reference time string: ty, ty, t3, U, ts, ts, ta, tg, to, Lo, tyy, t12, 113,

(10 Marks)
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Module-4
Explain the different file operations performed by processes.
Explain the interface between file system and 10CS.

OR
Explain the working of linked allocation of disk space with a figure.
Explain implementing file access with neat figure.

Module-5
Explain the primary issues in implementing message passing.
Explain the working of blocking and non-blocking delivery protocols.

OR

Define dead lock. Explain the condition of dead lock in resource allocation,

Explain the three fundamental approaches used in dead lock handling.
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I am herewith sending the details of Comments from BoE of ECE Board for the following subjects towards Scheme
and solution. Kindly download the attachment.
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JNN College of Engineering, Shimoga
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Subject: Operating Systems Code: 18EC641 The following are the corrections required,

Q9a. The answer for Q 9a is

Taaes aim mesaage passing

lssue Important aspects
Nanung of processes

Processes participating in a message transfer are cither
explicitly indicated in send and receive statements, or
they are deduced by the kernel in some other manner.
Whether a sender process is blocked until the message
transfering messages — sent by it is delivered, the order in which messages are
delivered to the receiver process, and handling of excep-
tional conditions in message passing.

Buffering of messages pending delivery to recipient pro-
cesses. Blocking and activation of processes.

Method for

Kernel responsibilities

generality of message passing. For example, requiring a sender process to know the
idenuty of a receiver process may limit the scope of message passing to processes
in the same application program. Relaxing this requirement would ext
passing to processes of different application programs and even to proc

esses execut-
ing in different computer systems. Similarly,

providing FIFO message delivery may
be rather restrictive; processes may wish to receive messages in some order of their
own choice.

end message

System calls send and receive act as communication primitives. The number and
meaning of their parameters are determined by the issues described in Table 10.1.
We discuss various aspects of these primitives in the following Sections.

Q &b For LRU policy - Number of page faults should be 8.

Other than this, as per the scrutiny from BoE members, there are no correction
Hence the same may be considered for the further process

Dr. Manjunatha. P
Chairman BoE for ECE -
Professor & Dean Academics JNN College of Engincering
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